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M.A. (Previous) Economics Examination, August/September 2009
°  DIRECTORATE OF CORRESPONDENCE COURSE
Paper - I1I : Quantitative Methods for Economists

(Freshers)

Time: 3 Hours ' Max. Marks: 80
NOTE: (1) Answer any FIVE of the following choosing not less than TWO from

each part.
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(2) All questions carry equal marks.
2o BEACRL IERE one.

PART-Aowmn-&

1. 1fD=300-10Pand S =400 — 20P are the demand and supply functions respectively.
Obtain the equilibrium price and quantity when a specific tax of Rs. 3/- per unit is
levied on supplier. Find the new equilibrium values.
tiead wonem) D = 300 — 10P b3 Reld tondsy S =400 — 20P = Zebdnensd vd
T3 Faprarivay som o0, deddod shed 12 Puid 3 damman 30 2lAmRN ndorbs
Tebdpes tid B FRweesisy Foml 000,

2. If the demand law is D = 200 — p — p? and supply law is S = p? + 3p — 28 find the
equilibrium price and quantity.
3e08 wowds) D = 200 — p — p? oy derd wondsy S = p® + 3p — 28 =i sehdecod
g 3 Zaneeszy sombRund.
3. Pareto's law of distribution of income for an economy is given by
N Bx10° -
KEIE
Find how many have income in between Rs. 1600 and Rs. 3,6007
mPeine umod H308 Booeddnday dvATod dadoand.
N=8x10°
x&E
1600 a."oafg 3600 demon emohd 6 Rdaso :sua%oﬁ:»ﬁ;‘ gomialohnh.
4. |If the total cost function of a certain firm is C = 3g® + 7q + 12, Find the average and
marginal cost functions.
ot g Sus C = 3¢° + 7q + 12 uhmpn Zoexd @3 Aednod Syl wowdndey
soRataBactol.
5. Solve the set of simultaneous equations by using Cramer's rule.
#9NT BRcedorasiay 60T DOFLTRY WYN TR0,
2%, + X, + Xy =4
X, +%,+%,=6
I, +dx, +2x,=3
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PART -B &gmrni - 83
What is central tendency ? Calculate mean, median and mode for the following data.
Beolyecd SARIINPoEDe ? SVAS TRE, ZooxD, TgiY Shidh wEbvdriva) dodik oD,
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Class interval 0-10 10-20 20-30 30-40 40-50
Smeodd
Frequency 10 20 8 2
e -
What do you understand by dispersion ? Calculate standard deviation for the following
data.
LudE codddes 7 der darldd mRd, W, odar Bedobeaint 9 =08
Class interval 0-30 30-60 60-90 90-120 120-150
sSmroad
Frequency 15 20 5 3
ol

Calculate co-efficient of correlation for the following data.
SO MRY, ZEnoL0G rmRotTE Jd .

X 10 9 8 7 6 4 3 2 1
¥ 14 15 16 14 13 12 " 10 8
Fit a straight line trend for the following data.
B9NT mRE, Loch Td¢ Seadody Cean.
Year
waEr 1997 | 1998 | 1999 | 2000 | 200 2002 2003
Production
poR T 50 80 100 | 120 | 140 150 120
Compute Fisher's Ideal Index number for the following data.
§9NT N, SO MOBF TR o8y OF mod
Commodity ‘Base Year Current Year
xod Yo SEF T A8 Salr
Price CQuantity Price Quantity
B BRRE ua Twes
A 10 4 12 &
B 12 6 13 8
L& 10 2 9 10
D 8 v 10 6




